
ENQUIRIES     PHONE          FAX SECTION       110.080
MELBOURNE 03 95620744    03 95620885  PAGE          1 of 9
PERTH     09 94516600    09 94582051  PRODUCT CODE  A AK
ADELAIDE  DS.NO         N/A
BRISBANE  1300 661 777   03 5479 1204 EFFECTIVE     05 Sep 2008
SYDNEY SUPERSEDES    01 Sep 2007

S P A R E  P A R T S  P R I C E  L I S T K L - I S O

ITEM     PART REC/RETAIL   RESELLER DISTRIBUTOR
 NO  NUMBER DESCRIPTION PRICE PRICE       PRICE

                          PRICES DO NOT INCLUDE GOODS & SERVICES TAX
CASINGS - (DS4)

  
001 AK10101 CASING  50X32-125 CI ELE.1 1205 1024 873
001 AK10102 CASING  50X32-160 CI ELE.1 1378 1171 999
001 AK10103 CASING  50X32-200 CI ELE.1 1464 1245 1062
001 AK10104 CASING  50X32-250 CI ELE.2 1925 1636 1396
001 AK10105 CASING  65X50-125 CI ELE.1 1337 1136 969
001 AK10106 CASING  65X50-160 CI ELE.1 1449 1232 1050
001 AK10107 CASING  65X40-200 CI ELE.1 1535 1305 1113
001 AK10108 CASING  65X40-250 CI ELE.2 1822 1549 1321
001 AK10109 CASING  65X40-315 CI ELE.2 2471 2100 1791
001 AK10110 CASING  80X65-125 CI ELE.1 1578 1342 1144
001 AK10111 CASING  80X65-160 CI ELE.1 1622 1378 1176
001 AK10112 CASING  80X50-200 CI ELE.1 1692 1438 1227
001 AK10113 CASING  80X50-250 CI ELE.2 1921 1633 1393
001 AK10114 CASING  80X50-315 CI ELE.2 2747 2335 1992
001 AK10115 CASING  100X65-200 CI ELE.2 2125 1806 1540
001 AK10116 CASING  100X65-250 CI ELE.2 2471 2100 1791
001 AK10117 CASING  100X65-315 CI ELE.3 3153 2680 2286
001 AK10118 CASING  125X100-200 CI ELE.2 2844 2417 2062
001 AK10119 CASING  125X100-250 CI ELE.3 3240 2754 2349
001 AK10120 CASING  125X100-315 CI ELE.3 3434 2919 2490
001 AK10121 CASING  125X100-400 CI ELE.3 4154 3531 3012
001 AK10122 CASING  125X100-500 CI ELE.4 6195 5265 4491
001 AK10123 CASING  150X150-200 CI ELE.3 3510 2984 2545
001 AK10124 CASING  150X125-250 CI ELE.3 3521 2993 2553
001 AK10125 CASING  150X125-315 CI ELE.3 4171 3546 3024
001 AK10126 CASING  150X125-400 CI ELE.3 5003 4253 3628
001 AK10127 CASING  150X125-500 CI ELE.4 6539 5558 4740
001 AK10129 CASING  200X150-250 CI ELE.3 4110 3493 2980
001 AK10130 CASING  200X150-315 CI ELE.4 4467 3797 3239
001 AK10131 CASING  200X150-400 CI ELE.4 6583 5596 4773
001 AK10132 CASING  200X150-500 CI ELE.4 7651 6503 5547
001 AK10135 CASING  250X200-315 CI ELE.4 6920 5882 5017

IMPELLERS (CAST IRON) - (DS4) 

002 AK20101 IMPELLER 50X32-125 CI 810 688 587
002 AK20102 IMPELLER 50X32-160 CI 979 832 710
002 AK20103 IMPELLER 50X32-200 CI 1304 1108 945
002 AK20104 IMPELLER 50X32-250 CI 1457 1239 1057
002 AK20105 IMPELLER 65X50-125 CI 923 784 669
002 AK20106 IMPELLER 65X50-160 CI 979 832 710
002 AK20107 IMPELLER 65X40-200 CI 1099 934 797

002 AK20108 IMPELLER 65X40-250 CI Not Applicable Use Bronze only

002 AK20109 IMPELLER 65X40-315 CI 1941 1650 1407

002 AK20110 IMPELLER 80X65-125 CI 953 810 691

002 AK20111 IMPELLER 80X65-160 CI 1035 880 750

002 AK20112 IMPELLER 80X50-200 CI 1092 928 792

002 AK20113 IMPELLER 80X50-250 CI 1303 1107 944

002 AK20114 IMPELLER 80X50-315 CI Not Applicable Use Bronze only

002 AK20115 IMPELLER 100X65-200 CI 1251 1063 907

002 AK20116 IMPELLER 100X65-250 CI 1303 1107 944

002 AK20117 IMPELLER 100X65-315 CI 2533 2153 1836

002 AK20118 IMPELLER 125X100-200 CI 1251 1063 907

Return Pricing File



SECTION       110.080
PAGE          2 of 9
EFFECTIVE     05 Sep 2008

S P A R E  P A R T S  P R I C E  L I S T K L - I S O

ITEM     PART REC/RETAIL   RESELLER DISTRIBUTOR

 NO  NUMBER DESCRIPTION PRICE PRICE       PRICE

                          PRICES DO NOT INCLUDE GOODS & SERVICES TAX
002 AK20119 IMPELLER 125X100-250 CI 1458 1240 1057
002 AK20120 IMPELLER 125X100-315 CI 1619 1376 1174
002 AK20121 IMPELLER 125X100-400 CI 3054 2596 2214
002 AK20122 IMPELLER 125X100-500 CI 3935 3345 2853
002 AK20123 IMPELLER 150X150-200 CI 1498 1273 1086
002 AK20124 IMPELLER 150X125-250 CI 1541 1310 1117
002 AK20125 IMPELLER 150X125-315 CI 1636 1391 1186
002 AK20126 IMPELLER 150X125-400 CI 2025 1721 1468
002 AK20127 IMPELLER 150X125-500 CI 4648 3951 3370
002 AK20129 IMPELLER 200X150-250 CI 1696 1441 1229
002 AK20130 IMPELLER 200X150-315 CI 1890 1607 1370
002 AK20131 IMPELLER 200X150-400 CI 2283 1940 1655
002 AK20132 IMPELLER 200X150-500 CI 3157 2684 2289
002 AK20135 IMPELLER 250X200-315 CI 2106 1790 1527

IMPELLERS (BRONZE) - (DS4) 

002 AK21101 IMPELLER 50X32-125 BRZ 854 726 619
002 AK21102 IMPELLER 50X32-160 BRZ 1157 984 839
002 AK21103 IMPELLER 50X32-200 BRZ 1466 1246 1063
002 AK21104 IMPELLER 50X32-250 BRZ 1723 1464 1249
002 AK21105 IMPELLER 65X50-125 BRZ 928 789 673
002 AK21106 IMPELLER 65X50-160 BRZ 1162 988 842
002 AK21107 IMPELLER 65X40-200 BRZ 1390 1182 1008
002 AK21108 IMPELLER 65X40-250 BRZ 1950 1658 1414
002 AK21109 IMPELLER 65X40-315 BRZ 2192 1863 1589
002 AK21110 IMPELLER 80X65-125 BRZ 1002 852 727
002 AK21111 IMPELLER 80X65-160 BRZ 1279 1088 928
002 AK21112 IMPELLER 80X50-200 BRZ 1378 1171 999
002 AK21113 IMPELLER 80X50-250 BRZ 1857 1578 1346
002 AK21114 IMPELLER 80X50-315 BRZ 2399 2039 1739
002 AK21115 IMPELLER 100X65-200 BRZ 1669 1419 1210
002 AK21116 IMPELLER 100X65-250 BRZ 1855 1577 1345
002 AK21117 IMPELLER 100X65-315 BRZ 2236 1900 1621
002 AK21118 IMPELLER 125X100-200 BRZ 1669 1419 1210
002 AK21119 IMPELLER 125X100-250 BRZ 2096 1781 1519
002 AK21120 IMPELLER 125X100-315 BRZ 2481 2109 1799
002 AK21121 IMPELLER 125\X00-400 BRZ 3264 2774 2366
002 AK21122 IMPELLER 125X100-500 BRZ 4256 3618 3086
002 AK21123 IMPELLER 150X150-200 BRZ 2053 1745 1488
002 AK21124 IMPELLER 150X125-250 BRZ 2185 1858 1584
002 AK21125 IMPELLER 150X125-315 BRZ 2556 2172 1853
002 AK21126 IMPELLER 150X125-400 BRZ 3454 2936 2504
002 AK21127 IMPELLER 150X125-500 BRZ 5543 4712 4019

002 AK21129 IMPELLER 200X150-250 BRZ 2500 2125 1812

002 AK21130 IMPELLER 200X150-315 BRZ 3143 2671 2278

002 AK21131 IMPELLER 200X150-400 BRZ 3814 3242 2765

002 AK21132 IMPELLER 200X150-500 BRZ 5484 4662 3976

002 AK21135 IMPELLER 250X200-315 BRZ 3516 2989 2549

IMPELLER TURNDOWN and BALANCE

ADD TO IMPELLER PRICE WHEN REQUIRED

125 MM DIA 120 108 96

160 MM DIA 150 135 120

200 MM DIA 180 162 144

250 MM DIA 210 189 168

315 MM DIA 299 270 240

400 MM DIA 449 404 359

500 MM DIA 509 458 407



SECTION       110.080

PAGE          3 of 9

EFFECTIVE     05 Sep 2008

S P A R E  P A R T S  P R I C E  L I S T K L - I S O

ITEM     PART REC/RETAIL   RESELLER DISTRIBUTOR

 NO  NUMBER DESCRIPTION PRICE PRICE       PRICE

                          PRICES DO NOT INCLUDE GOODS & SERVICES TAX
SHAFT (STANDARD)   

  

006 AK60124 SHAFT ASSY 1 (SS) ELE.1 THESE SHAFTS ARE NOW SUPERSEDED

006 AK60132 SHAFT ASSY 1 (SS) ELE.2 REPLACE WITH 

006 AK60142 SHAFT ASSY 3 (SS) ELE.3 HEAVY DUTY SHAFT ASSY

006 AK60148 SHAFT ASSY 4 (SS) ELE.4

  

SHAFT (HEAVY DUTY) - (DS14)   

PUMP SHAFT ASSY INCLUDES - SHAFT, NUT, IMP KEY & WASHER.  

006 AK60001 SHAFT ASSY 1 (SS) ELE.1 421 400 378

006 AK60002 SHAFT ASSY 2 (SS) ELE.2 566 537 509

006 AK60003 SHAFT ASSY 3 (SS) ELE.3 576 547 518

006 AK60004 SHAFT ASSY 4 (SS) ELE.4 911 866 820

CASING RING ONLY Cast iron (*Note.1) - (DS14)

007 AK70210 CASE RING SUIT AKP 1,2,3,4. 88 84 80

007 AK70212 CASE RING SUIT AKP 5,6,7. 127 121 114

007 AK70213 CASE RING SUIT AKP 8,9,10. 127 121 114

007 AK70214 CASE RING SUIT AKP 11,12. 127 121 114

007 AK70215 CASE RING SUIT AKP 13,14. 127 121 114

007 AK70216 CASE RING SUIT AKP 15,16,17. 136 129 123

007 AK70218 CASE RING SUIT AKP 18,19,20,21. 175 166 157

007 AK70219 CASE RING SUIT AKP 22. 175 166 157

007 AK70220 CASE RING SUIT AKP 23,24,25,26,27. 252 239 227

007 AK70222 CASE RING SUIT AKP 29,30,31,32. 252 239 227

007 AK70224 CASE RING SUIT AKP 35. 395 375 355

CASE RING ONLY Bronze (*Note.1) - (DS14) 

007 AK71210 CASE RING SUIT AKP 1,2,3,4. 107 101 96

007 AK71212 CASE RING SUIT AKP 5,6,7. 145 138 131

007 AK71213 CASE RING SUIT AKP 8,9,10. 145 138 131

007 AK71214 CASE RING SUIT AKP 11,12. 145 138 131

007 AK71215 CASE RING SUIT AKP 13,14. 145 138 131

007 AK71216 CASE RING SUIT AKP 15,16,17. 154 147 139

007 AK71218 CASE RING SUIT AKP 18,19,20,21. 175 166 157

007 AK71219 CASE RING SUIT AKP 22. 175 166 157

007 AK71220 CASE RING SUIT AKP 23,24,25,26,27. 279 265 251

007 AK71222 CASE RING SUIT AKP 29,30,31,32. 279 265 251

007 AK71224 CASE RING SUIT AKP 35. 422 401 380

CASE RING Bronze(*Note.2) - (DS14)

007 AK71110 CASE RING SUIT AKP 1,2,3,4. 107 101 96

007 AK71112 CASE RING SUIT AKP 5,6,7. 145 138 131

007 AK71113 CASE RING SUIT AKP 8,9,10. 145 138 131

007 AK71114 CASE RING SUIT AKP 11,12. 145 138 131

007 AK71115 CASE RING SUIT AKP 13,14. 145 138 131

007 AK71116 CASE RING SUIT AKP 15,16,17. 154 147 139

007 AK71118 CASE RING SUIT AKP 18,19,20,21. 175 166 157

007 AK71119 CASE RING SUIT AKP 22. 175 166 157

007 AK71120 CASE RING SUIT AKP 23,24,25,26,27. 279 265 251

007 AK71121 CASE RING SUIT AKP 29. 279 265 251

007 AK71122 CASE RING SUIT AKP 30,31,32. 279 265 251

007 AK71124 CASE RING SUIT AKP 35. 422 401 380



SECTION       110.080

PAGE          4 of 9

EFFECTIVE     05 Sep 2008

S P A R E  P A R T S  P R I C E  L I S T K L - I S O

ITEM     PART REC/RETAIL   RESELLER DISTRIBUTOR

 NO  NUMBER DESCRIPTION PRICE PRICE       PRICE
                          PRICES DO NOT INCLUDE GOODS & SERVICES TAX

IMP. RING Bronze - (DS14)

008 AK81110 IMP. RING SUIT AKP 1,2,3,4. 107 101 96

008 AK81112 IMP. RING SUIT AKP 5,6,7. 145 138 131

008 AK81113 IMP. RING SUIT AKP 8,9,10. 145 138 131

008 AK81114 IMP. RING SUIT AKP 11,12. 145 138 131

008 AK81115 IMP. RING SUIT AKP 13,14. 145 138 131

008 AK81116 IMP. RING SUIT AKP 15,16,17. 154 147 139

008 AK81118 IMP. RING SUIT AKP 18,19,20,21. 175 166 157

008 AK81119 IMP. RING SUIT AKP 22. 175 166 157

008 AK81120 IMP. RING SUIT AKP 23,24,25,26,27. 279 265 251

008 AK81121 IMP. RING SUIT AKP 29. 279 265 251

008 AK81122 IMP. RING SUIT AKP 30,31,32. 279 265 251
008 AK81124 IMP. RING SUIT AKP 35. 422 401 380

WEAR RING FITTING CHARGES

EXTRA PRICE FOR FITTING OF RING TO

CASING (*NOTE 3.)

PUMP SUCTION SIZE

50 MM FIT CASING RING 225 202 180

65 MM FIT CASING RING 225 202 180

80 MM FIT CASING RING 270 243 216

100 MM FIT CASING RING 270 243 216

125 MM FIT CASING RING 329 296 264

150 MM FIT CASING RING 329 296 264

200 MM FIT CASING RING 419 377 335

250 MM FIT CASING RING 449 404 359

WEAR RING FITTING CHARGES

EXTRA PRICE FOR FITTING OF RING TO IMPELLER (*NOTE 3.)

PUMP SUCTION SIZE

50 MM FIT IMPELLER RING 75 67 60

65 MM FIT IMPELLER RING 75 67 60

80 MM FIT IMPELLER RING 90 81 72

100 MM FIT IMPELLER RING 90 81 72

125 MM FIT IMPELLER RING 105 94 84

150 MM FIT IMPELLER RING 105 94 84

200 MM FIT IMPELLER RING 120 108 96

250 MM FIT IMPELLER RING 150 135 120

BACK COVERS PACKED GLAND - (DS4)

011 AK11011 BACK COVER 125\45 CI ELE.1 617 525 447
011 AK11012 BACK COVER 200\65 CI ELE.2&3 766 651 556

011 AK11013 BACK COVER 315\85 CI ELE.4 1130 961 820

011 AK11021 BACK COVER 160\45 CI ELE.1 692 588 501

011 AK11022 BACK COVER 250\65 CI ELE.2&3 899 764 652

011 AK11023 BACK COVER 400\85 CI ELE.4 3280 2788 2378

011 AK11031 BACK COVER 200\45 CI ELE.1 741 630 537

011 AK11032 BACK COVER 315\65 CI ELE.2&3 1046 889 758

011 AK11033 BACK COVER 500\85 CI ELE.4 3735 3174 2708

011 AK11042 BACK COVER 400\65 CI ELE.2&3 3191 2712 2313



SECTION       110.080

PAGE          5 of 9

EFFECTIVE     05 Sep 2008

S P A R E  P A R T S  P R I C E  L I S T K L - I S O

ITEM     PART REC/RETAIL   RESELLER DISTRIBUTOR

 NO  NUMBER DESCRIPTION PRICE PRICE       PRICE

                          PRICES DO NOT INCLUDE GOODS & SERVICES TAX

BACK COVERS MECHANICAL SEAL - (DS4)

011 AK10211 BACK COVER 125\45 CI ELE.1 618 526 448

011 AK10212 BACK COVER 200\65 CI ELE.2&3 768 652 556
011 AK10213 BACK COVER 315\85 CI ELE.4 1133 963 822

011 AK10221 BACK COVER 160\45 CI ELE.1 693 589 502

011 AK10222 BACK COVER 250\65 CI ELE.2&3 893 759 647

011 AK10223 BACK COVER 400\85 CI ELE.4 3417 2904 2477

011 AK10231 BACK COVER 200\45 CI ELE.1 743 631 538

011 AK10232 BACK COVER 315\65 CI ELE.2&3 1042 886 755

011 AK10233 BACK COVER 500\85 CI ELE.4 3687 3134 2673

011 AK10242 BACK COVER 400\65 CI ELE.2&3 3324 2825 2410

HOOK TYPE SHAFT SLEEVES (SPECIAL) - (DS14)

014 AK40128 S/SLEEVE SS  ELE.1 522 496 470

014 AK40145 S/SLEEVE SS  ELE.2&3 765 726 688

014 AK40160 S/SLEEVE SS  ELE.4 948 901 853

SHAFT SLEEVES (STANDARD) - (DS14)

014 AK41128 S/SLEEVE (SS) ELE.1 152 144 137

014 AK41145 S/SLEEVE (SS) ELE.2&3 204 194 184

014 AK41160 S/SLEEVE (SS) ELE.4 243 231 218

SHAFT SLEEVES (FITTING CHARGE)

FITTING SLEEVE ELE.1 150 135 120
FITTING SLEEVE ELE.2 225 202 180

FITTING SLEEVE ELE.3 299 270 240

SPLIT GLANDS - (DS4)

017 AK70130 GLAND (SPLIT) BRZ  ELE.1 247 210 179

017 AK70145 GLAND (SPLIT) BRZ  ELE.2&3 228 194 166

017 AK70160 GLAND (SPLIT) BRZ  ELE.4 188 160 136

017 AK71130 GLAND (SPLIT) CI  ELE.1 494 420 358

017 AK71145 GLAND (SPLIT) CI  ELE.2&3 361 307 262

017 AK71160 GLAND (SPLIT) CI  ELE.4 304 258 220

BEARING HOUSING - (DS4)

019 AK90111 HOUSING 125\72 (CI) 1247 1060 904
019 AK90112 HOUSING 200\110 (CI) 1971 1675 1429
019 AK90121 HOUSING 160\72 (CI) 1454 1236 1054
019 AK90122 HOUSING 250\110 (CI) 1938 1648 1405
019 AK90123 HOUSING 315\140 (CI) 2989 2540 2167
019 AK90131 HOUSING 200\72 (CI) 1142 971 828
019 AK90132 HOUSING 315\110 (CI) 2150 1828 1559

SUPPORT FOOT - (DS4)

023 AK30111 112\1 SUIT AKP1,5 109 93 79
023 AK30113 132\1 SUIT AKP2,6,10 115 98 83
023 AK30116 160\1 SUIT AKP3,7,11,12 115 98 83
023 AK30118 180\2 SUIT AKP4,8,13,15 115 98 83
023 AK30120 200\2 SUIT AKP16,18 115 98 83



SECTION       110.080

PAGE          6 of 9

EFFECTIVE     05 Sep 2008

S P A R E  P A R T S  P R I C E  L I S T K L - I S O

ITEM     PART REC/RETAIL   RESELLER DISTRIBUTOR
 NO  NUMBER DESCRIPTION PRICE PRICE       PRICE

                          PRICES DO NOT INCLUDE GOODS & SERVICES TAX
SUPPORT FOOT CONT - (DS4)

023 AK30122 225\3 SUIT AKP9,14,17,19,23 115 98 83
023 AK30125 250\3 SUIT AKP20,24 116 98 84
023 AK30128 280\3 SUIT AKP21,25,29 116 98 84

023 AK30131 315\3 SUIT AKP26 121 103 88

023 AK30132 315\4 SUIT AKP30,31,35 227 193 165

023 AK30135 355\4 SUIT AKP22,27 218 185 158
023 AK30140 400\4 SUIT AKP32 225 191 163

IMPELLER NUTS (Dome Type)to suit STANDARD SHAFT(Superseded) - (DS4)
  

024-0 AK24020 IMP. NUT M12 (BRZ) ELE.1 61 52 44
024-0 AK24032 IMP. NUT M16 (BRZ) ELE.2&3 48 41 35

024-0 AK24048 IMP. NUT M24 (BRZ) ELE.4 114 97 83
024-0 AK24120 IMP. NUT/WASH M12 (SS) ELE.1 101 86 73

024-0 AK24132 IMP. NUT/WASH M16 (SS) ELE.2&3 136 115 98
024-0 AK24148 IMP. NUT/WASH M24 (SS) ELE.4 482 409 349

IMPELLER NUTS (HEAVY DUTY SHAFT) - (DS16)  

  
024-0 CS00272 NYLOC NUT (SS) ELE.1 5 5 4
024-0 CS00274 NYLOC NUT (SS) ELE.2&3 34 34 32
024-0 CS00275 NYLOC NUT (SS) ELE.4 109 109 104

IMPELLER WASHER (HEAVY DUTY SHAFT) - (DS14)  

  
024-1 AK60013 WASHER  (SS) ELE.1 36 34 33
024-1 AK60014 WASHER  (SS) ELE.2&3 36 34 33
024-1 AK60016 WASHER  (SS) ELE.4 57 54 51

LANTERN RINGS - (DS4)

029 AK29030 LANTERN RING (BRZ) ELE.1 92 78 66
029 AK29045 LANTERN RING (BRZ) ELE.2&3 117 99 85
029 AK29060 LANTERN RING (BRZ) ELE.4 137 117 100
029 AK29130 LANTERN RING (CI) ELE.1 92 78 66

029 AK29145 LANTERN RING (CI) ELE.2&3 117 99 85
029 AK29160 LANTERN RING (CI) ELE.4 137 117 100

BRG END COVERS - (DS4)

035 AK35013 BRG COVER 30\72 (CI)  ELE.1 176 149 127
035 AK35015 BRG COVER 50\110 (CI) ELE.2&3 182 154 132
035 AK35016 BRG COVER 65\140 (CI) ELE.4 204 173 148

DEFLECTORS - (DS4)

040 AK40013 DEFLECTOR (RUBB) ELE.1 22 18 16
040 AK40015 DEFLECTOR (RUBB) ELE.2&3 29 25 21
040 AK40016 DEFLECTOR (RUBB) ELE.4 86 73 62

FASTENERS - (DS16)
 

500 CS9909 HEX HD SCREW  M6\16 2 2 2
500 CS00171 HEX HD SCREW  M8\16 2 2 2
500 CS00172 HEX HD SCREW  M8\25 1 1 1



SECTION       110.080

PAGE          7 of 9

EFFECTIVE     05 Sep 2008

S P A R E  P A R T S  P R I C E  L I S T K L - I S O

ITEM     PART REC/RETAIL   RESELLER DISTRIBUTOR
 NO  NUMBER DESCRIPTION PRICE PRICE       PRICE

                          PRICES DO NOT INCLUDE GOODS & SERVICES TAX
FASTENERS CONT. - (DS16)

500 CS00178 HEX HD SCREW  M10\20 1 1 1
500 CS00188 HEX HD SCREW  M12\25 2 2 2
500 CS3704 HEX HD SCREW  M12\30 3 3 3

500 CS00190 HEX HD SCREW  M12\40 4 4 3

500 CS00191 HEX HD SCREW  M12\45 2 2 2

500 CS00197 HEX HD SCREW  M16\30 6 6 6
500 CS1249103 HEX HD SCREW  M20\45 2 2 2
500 CS00228 HEX HD SCREW  M24\50 6 6 6

  0
500 CS00017 HEX NUTS  M12 1 1 1

GLAND STUDS - (DS4)

515 AK99984 GLAND STUDS (MS)  ELE.1 15 13 11
515 AK99983 GLAND STUDS (MS)  ELE.2,3&4 15 13 11

GLAND PACKING - (DS4)

581 AK99995 PACKING SET 45.00\28.5 ELE.1 48 41 35
581 AK99996 PACKING SET 65.00\44.4 ELE.2&3 88 75 64
581 AK99997 PACKING SET 85.00\60.3 ELE.4 183 155 132

IMPELLER KEYS - (DS4)

551-0 AK99987 IMP. KEY 6\6\24B ELE.1 12 10 9
551-0 AK99985 IMP. KEY 10\8\29B ELE.2 19 16 14
551-0 AK99994 IMP. KEY 10\8\40B ELE.3 20 17 14
551-0 AK99990 IMP. KEY 14\9\48B ELE.4 32 27 23

COUPLING KEYS - (DS4)

551-1 AK99986 COUP. KEY 8\7\36 ELE.1 29 25 21
551-1 HT15703 COUP. KEY 10\8\56 ELE.2 37 31 26
551-1 HT15707 COUP. KEY 12\8\80 ELE.3 18 15 13
551-1 HT15704 COUP. KEY 14\9\80 ELE.4 39 33 28

BEARINGS - (DS16)

560-0 BR6306 BEARING INBOARD ELE.1 18 18 17
560-0 BR6310 BEARING INBOARD  ELE.2&3 61 61 58
560-0 BR6313 BEARING INBOARD ELE.4 132 132 126

0 0
560-1 BR6306NR BEARING OUTBOARD ELE.1 31 31 29
560-1 BR6310NR BEARING OUTBOARD  ELE.2&3 97 97 92
560-1 BR6313NR BEARING OUTBOARD ELE.4 151 151 143

MECHANICAL SEALS - (DS16)
580 AK80000 MECH. SEAL (ELE.1)      - STD. 41 41 39
580 AK80001 MECH. SEAL (ELE.2&3) - STD. 65 65 61
580 AK80002 MECH. SEAL (ELE.4)      - STD. 360 360 342

580 AK80000-1 MECH. SEAL (ELE.1)      - VITON 143 143 136
580 AK80001-1 MECH. SEAL (ELE.2&3) - VITON 204 204 193
580 AK80002-1 MECH. SEAL (ELE.4)      - VITON 793 793 753

580 AK80000-2 MECH. SEAL (ELE.1)      - SIC/SIC/VT 666 666 633
580 AK80001-2 MECH. SEAL (ELE.2&3) - SIC/SIC/VT 793 793 753
580 AK80002-2 MECH. SEAL (ELE.4)      - SIC/SIC/VT 1291 1291 1227



SECTION       110.080

PAGE          8 of 9

EFFECTIVE     05 Sep 2008

S P A R E  P A R T S  P R I C E  L I S T K L - I S O

ITEM     PART REC/RETAIL   RESELLER DISTRIBUTOR
 NO  NUMBER DESCRIPTION PRICE PRICE       PRICE

                          PRICES DO NOT INCLUDE GOODS & SERVICES TAX
MECHANICAL SEAL SPACER - (DS14)

580-1 AK90145   ELE.1 29 28 27
580-1 AK90165   ELE.2&3 32 30 29
580-1 AK90185   ELE.4 45 43 41

`O' RING SEALS (CASING) - (DS4)

583 BS1806-359 `O' RING  125 MM IMP DIA - BUNA'N 5 4 4
583 BS1806-366 `O' RING  160 MM IMP DIA - BUNA'N 6 5 5
583 BS1806-374 `O' RING  200 MM IMP DIA - BUNA'N 8 7 6
583 BS1806-379 `O' RING  250 MM IMP DIA - BUNA'N 9 8 7
583 BS1806-456 `O' RING  315 MM IMP DIA - BUNA'N 18 15 13
583 BS1806-463 `O' RING  400 MM IMP DIA - BUNA'N 23 19 16
583 BS1806-470 `O' RING  500 MM IMP DIA - BUNA'N 28 24 21

583 BS1806-359-1`O' RING  125 MM IMP DIA - VITON 27 23 20
583 BS1806-366-1`O' RING  160 MM IMP DIA - VITON 36 30 26
583 BS1806-374-1`O' RING  200 MM IMP DIA - VITON 47 40 34
583 BS1806-379-1`O' RING  250 MM IMP DIA - VITON 61 52 44
583 BS1806-456-1`O' RING  315 MM IMP DIA - VITON 103 88 75
583 BS1806-463-1`O' RING  400 MM IMP DIA - VITON 125 106 91
583 BS1806-470-1`O' RING  500 MM IMP DIA - VITON 175 149 127

LIP SEAL BEARING COVER - (DS4)

584 AK93045 LIP SEAL VC30\45\6A ELE.1 8 7 6
584 AK95068 LIP SEAL VC50\68\7A ELE.2&3 13 11 10
584 AK96588 LIP SEAL VC65\88\6A ELE.4 18 16 13

DRAIN PLUGS - (DS4)

602 AK91001 DRAIN PLUGS (MI)  1/2 BSP 2 2 1
602 AK91002 DRAIN PLUGS (MI)  3/4 BSP 2 2 1

CIRCLIPS - (DS4)

540 CS00047 No. 30 EXT CIRCLIP ELE.1 1 1 1
540 CS00048 No. 50 EXT CIRCLIP ELE.2&3 3 2 2
540 CS00043 No. 65 EXT CIRCLIP ELE.4 4 4 3

GREASE NIPPLE  - (DS4)

571 CS3309 GREASE NIPPLE ELE.1.2&3 2 2 1

HEXAGON COUPLING GUARD COMPONENTS - (DS4)

BRACKETS

P/N DRG NO          BRKT SIZE
AK31828 A3E31828             EL 1                   143 122 104
AK40352 A3E40352             EL 1L 139 118 101
AK31819 A3E31819             EL 2 155 132 112
AK40144 A3E40144             EL 2L 164 140 119

AK34708 A3E34708             EL 4 191 162 138
HT40145 A3E40145             EL 4L  226 192 164



SECTION       110.080

PAGE          9 of 9

EFFECTIVE     05 Sep 2008

S P A R E  P A R T S  P R I C E  L I S T K L - I S O

ITEM     PART REC/RETAIL   RESELLER DISTRIBUTOR
 NO  NUMBER DESCRIPTION PRICE PRICE       PRICE

                          PRICES DO NOT INCLUDE GOODS & SERVICES TAX
GUARDS - (DS4)

HT38727 A3E38727             EL 1     (280 LG) 116 99 84
HT38730 A3E38730             EL 1L   (350 LG) 147 125 107
HT38728 A3E38728             EL 2     (210 LG) 116 99 84
HT38730 A3E38730             EL 2     (350 LG) 147 125 107
HT38729 A3E38729             EL 2     (410 LG) 191 162 138
AK38791 A3E38791             EL 2L   (410 LG) 127 108 92
AK40146 A3E40146             EL 2L   (480 LG) 127 108 92
HT38731 A3E38731             EL 4     (480 LG) 159 135 115
HT38794 A3E38794             EL 4     (480 LG) 127 108 92
**GUARD PART NUMBER FOR 2 OFF HALVES  (2 HALVES MAKE 1 GUARD)**

REPAIR KITS
PUMP SIZE TO BE ADVISED FOR CORRECT SUPPLY OF CASE O-RING

AKKIT1 REPAIR KIT     MECH SEAL - ELE 1 163 153 140
AKKIT3 REPAIR KIT     MECH SEAL - ELE 2&3 359 344 318

AKKIT5 REPAIR KIT     MECH SEAL - ELE 4 989 954 887

AKKIT2 REPAIR KIT     PKD GLAND - ELE 1 169 152 135

AKKIT4 REPAIR KIT     PKD GLAND - ELE 2&3 383 355 321
AKKIT6 REPAIR KIT     PKD GLAND - ELE 4 812 749 677

Each Repair Kit Comprises

1 off Impeller nut
1 off Mechanical. Seal or  Set of Gland Packing

2 off Deflectors ,
1 off Bearing Inboard
1 off Bearing Outboard
2 off Lip Seals for Bearing Covers
1 off Casing 'O" Ring

Standard Materials Only to suit Code 16 or 17  Pumps

*Note.1 : DO NOT USE WHEN IMPELLER RING FITTED.

*Note.2 : USE ONLY WHEN IMPELLER RING FITTED.

*Note.3 : THIS PRICE IS TO BE ADDED TO COMPONENT PRICE IT ALSO INCLUDES

    MACHINING WHERE NECESSARY.

FOR OTHER MATERIALS OR OPTIONS REFER TO NEAREST SALES OFFICE
PRICES $ AUSTRALIAN EX WORKS CASTLEMAINE VIC.
REFER TO OUR CONDITIONS OF SALES.


